

# अखिल भारतीय आयुर्विज्ञान संस्थान, रायपुर (छत्तीसगढ़) All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG)

Phone No. 0771-2572930, e-mail: ee.civil@aiimsraipur.edu.in

**NIQ No: 28/EE/AIIMS/RPR/2019-20** 

Date: 16-12-2019

### **NOTICE INVITING QUOTATION**

Sealed **percentage rate quotation** is hereby invited by The Executive Engineer (Civil) on behalf of The Director, AIIMS Raipur from the **Civil eligible Contractors of CPWD**, **MES**, **BSNL**, **Chhattisgarh State PWD** having relevant documents and bid should be submitted to office of Project Cell, Hospital Administrative Block, Gate No-1, AIIMS Raipur up to **11:00 AM** on **date: 23-12-2019**. The right to reject any or all the quotations without assigning any reasons thereof shall rest with undersigned. The quotations will be opened on the same day at **11:30 AM**. As per detailed below:

Sl	NAME OF WORK	EST. COST in	EMD in Rs.	TIME
No		Rs.		
1	Fixing of Stainless steel platform with sink for BB1 block 4th floor OT Complex, AIIMS Raipur.	Rs.3,28,512.00	Rs.6,600.00	45 Days

## SCHEDULE OF QUANTITY

Sl No	Description of items	Quantity	Unit	Rate	Amount			
1	AS	AS PER ATTACHED SHEET						

#### **Terms & Conditions:**

- 1. The **percentage rates** are to be quoted in words and figures inclusive all taxes octroi, transportation etc. (Nothing to be paid extra on this account).
- 2. **Security Deposit** @2.5% of quoted value will be deducted & will be released after 06(Six) months of successfully completion of work.
- 3. Specifications to be followed for execution of work as per CPWD Specifications and direction of the Engineer-In Charge.
- 4. The first and final bill payment will be done after completion of work as per specification.
- 5. Labour Law to be obeyed by the Agency.
- 6. LD @ 0.5% of delayed work per week or part of week for delay of completion of work subject to maximum up to 10% and up to justified time period.
- 7. Certificate of Registration for GST, Contractors' registration should be attached with Quotation and duly seal & sign on each document.
- 8. **Time allowed for the completion of the work is 45days**. It will be reckoned from the day award of the work.
- 9. The bidder shall be responsible for arranging and maintaining at his own cost all materials, tools & plants, water, electricity access, facilities for workers and all other services required for executing the work.

- 10. The Contractor shall remove from site all rubbish and debris generated by the Works and keep Works clean and tidy.
- 11. All damages done to the building during execution of work shall be the responsibility of the contractor and the same will be made good immediately at his own cost to the satisfaction of the Engineer-in-Charge. Any expenditure incurred by the department in this condition shall be recovered from the contractor and decision of the Engineer-in-Charge about recovery shall be final.
- 12. Bidders are suggested to visit the site with Junior Engineer(C), Er. Nayan Parakh before participating in the quotation.
- 13. The work will be done in a running hospital, hence the work to be done as per the rules and instructions of Engineer-In-Charge. All the conditions of work at site are applicable to the successful bidder.
- 14. Method of application:
- a) If the bidder is an individual, the application shall be signed by him above his full type written name and current address.
- b) If the bidder is a proprietary firm, the application shall be signed by the proprietor above his full type written name and the full name of his firm with its current address.
- c) If the bidder is a firm in partnership, the application shall be signed by all the partners of the firm above their full type written names and current addresses, or, alternatively, by a partner holding power of attorney for the firm. In the later case a certified copy of the power of attorney should accompany the application. In both cases a certified copy of the partnership deed and current address of all the partners of the firm should accompany the application.
- d) If the bidder is a limited company or a corporation, the application shall be signed by a duly authorized person holding power of attorney for signing the application accompanied by a copy of the power of attorney. The bidder should also furnish a copy of the Memorandum of Articles of Association duly attested by a Public Notary.

Executive Engineer (C)
AIIMS Raipur (C.G.)

## Copy to:

- 1. The Director, AIIMS Raipur-
- 2. The Deputy Director (Admin), AIIMS Raipur -
- 3. The Financial Adviser, AIIMS Raipur-
- 4. The Accounts Officer-I, Project Cell, AIIMS Raipur-
- 5. The Junior Engineer (C)-Er. Nayan Parakh, AIIMS Raipur. Preparation of Market Rate Justification, Rate analysis and measurement sheet before opening of NIQ.

Schedule of Quantity

Name of Work: Fixing of Stainless steel platform with sink for BB1 block 4th floor OT

Complex, AIIMS Raipur

I No	DSR ref	Description of item	Qty	Unit	Rate	Amount
1	110	MASONRY WORK				
1.1	NDSR	Brick work with fly ash bricks in super structure above plinth level and upto floor V level in Cement mortar 1:4 (1 cement : 4 coarse sand)	0.25	cum	5972.88	1493.22
2		STEEL WORK				
2.1	NDSR	Providing and fixing stainless steel (Grade 304) platform with sink made of Hollow tubes, channels, plates, sheets etc., including welding, grinding, buffing, polishing and making curvature, waste coupling (wherever required) and fitting the same with necessary stainless steel nuts and bolts complete, i/c fixing the platform at the site necessary accessories & stainless steel dash fasteners, stainless steel bolts etc. wherever required, of required size, on the top of the floor in the rooms with suitable arrangement as per approval of Engineer-in-charge, (for payment purpose only weight of stainless steel members shall be considered excluding fixing accessories such as nuts, bolts, fasteners etc.)		kg	608.07	304035.00
3		FINISHING				
3.1	13.4	12 mm cement plaster of mix :				
3.1.1	13.4.2	1:6 (1 cement: 6 coarse sand)	1.00	sqm	263.55	263.55
3.2	13.80	Providing and applying white cement based putty of average thickness I mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.		sqm	115.15	115.15
3.3	13.83	Wall painting with premium acrylic emulsion paint of interior grade, having VOC (Volatile Organic Compound) content less than 50 grams/ litre of approved brand and manufacture, including applying additional coats wherever required to achieve even shade and colour.				
3.3.1	13.83.2	Two coats	1.00	sqm	113.90	113.90
4		DISMANTLING AND DEMOLISHING				
4.1	15.7	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge.		-		
4.1.1	15.7.4	In cement mortar	0.25	cum	1469.90	367.48
5		SANITARY INSTALLATIONS				
5.1	17.28	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete.				
5.1.1	17.28.2	Flexible pipe				
5.1.1.1	17.28.2.1	32 mm dia	4.00	each	101.10	404.40
6		WATER SUPPLY				

I No	DSR ref	Description of item	Qty	Unit	Rate	Amount
6.1	18.7	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge.	5'			
		Internal work - Exposed on wall				
6.1.1	18.7.2	20 mm nominal outer dia Pipes	20.00		306.95	6139.00
6.1.2	18.7.6	50 mm nominal outer dia Pipes	10.00	metre	903.50	9035.00
6.2	18.8	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge.				
6.2.1	18.8.2	20 mm nominal outer dia Pipes	8.00	metre	478.15	3825.20
6.3	18.50	Providing and fixing C.P. brass long nose bib cock of approved quality conforming to IS standards and weighing not less than 810 gms.	0.00	Metre	170.13	3023.20
6.3.1	18.50.1	15 mm nominal bore	4.00	each	618.80	2475.20
6.4		Providing and fixing C.P. Brass extension nipple (size 15mmx50mm) of approved make and quality as per direction of Engineer-in-charge	4.00		61.25	245.00
			V- 19		Total	328512.00
		(Rupees Three Lacs Twenty Eight Thousand Five	Hundre	d Twel	re Only)	
		In Figure				
Quote	itage Rate ed by the gency	In Words	qI.			
Name o			<			
Addre Details						
Contac	t no:					